K. Divide and check the answer. cn € OPj ‘

1. 824 ~ 4 - 3 605 =5 5. 312+ 3
2. 3045 +9 4. 1325 + 4 6. 6876 ~ 8
G. Solve these word problems. | N n COPY

1. In a girl’s hostel 96 girls were given accommodation. If 3 girls
shared a room, how many rooms were there in the hostel?

e

2. A milkman distributes 44 litres of milk every day. If he supplies &
4 litres of milk to each house, how many houses does he work for? kT
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SHAPES AND PATTERNS

A. Tick (¢) the correct option.

1. A cuboid has faces.

a. tWo »..) b. four J c. SIX Mf
2. A has no edges or corners.

a. circle \j , b. square ﬂ; c. triangle -}
3. A cone has edge.

a. one ~/f b. two c. three )
4. A square has corners.

a. two b. four j{ c. Six »
5. A triangle has corners.

a. one ) b. two ) c. three A

B. What will come next? Draw it.
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C. Name the solid shapes.
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A birthday cap - A rubber pipe A refrigerator
} R
2. 4 6. f%%
@
A yo-yo ] A table top An ice cream
CH\JL'-\(\A-QJ’L—' ; CL&/&OZ Cl ‘ Conl—

D. Draw the mirror image and colour it.

1.

MEASUREMENT

A. Tick (¢) the correct option.
1. The length of a spoon can be

a 12cm. N4 b 12m._) e 12km. )
2. The height of a door can be
a 3em. ) b. 3m. f ¢ 3km. )

3. The weight of a ball is 100 g. The weight of 10 such balls is -
2. 10g. ) b. 1000 kg. J . 1kg r o5
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\
. 1 L milk is poured equally into two glasses. Each glass would have

a. 50 mL milk. b. 500 mL milk. 7 ¢ 5Lmik }

. Mother bought 4 packets of dates, each weighing~l2_:5 g. The total weight
of the four packets is 125 A4 500y
a. lkg \#)& h. 500 g. \j e. 100 mg. v

. Tick (¢) what is required to make

@ - ey

500g vy 200g\y  200g.s 100g.s  100g

.mlg o \pocn

0cm »»  S0em , 40em ; 30cm.)  25cm

o

500 mL ~7 250 mL 7 200 mL v7~ 100 mL 50 mL

. Measure the length of these lines with your scale and write in the blanks.

. A — : B *cm
. P e -Q 14 cm
. Compare and put > or < in the DL en ¢ OPJ‘

. 1 km >} 1m p S 5m25§1n = 500 cm + 25 cm

. 800g+150g <4 lkg 6 35g ) 350mg S
. S00mL+500mL =) 1L | 7.75mL %) 25mL+25mL

. 7 km > 700m. s 77em & Tm7em
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